ER-IERRREE-RR

TMTESA29BRE

SEXEE BAMERRE

FFR P 2R X = R
{CiEr | RS AR
MR EEFEOME |SEE
X7 (BKE) RER=EHEE |28
(EWKE) |TIERSIEHEE 227
. = e w  |[ISRINGTIE=81.9, £EIIFIE=36.7, &i&)I|Riz=16.6,
REMBESEE | Co) Sao1 7 MBI F =135 %= IFH-206
#K EeRE -
o AT R
IZkBEHE
A SE 4 EE 20m/s
ZRE T RE 20m/s FBEES
RE [EE DRSS 1285 1% E D iFEE30cm
R e
B8 s
- REMEEBEE (16
TIERERHBEE 167
: o e e |1 FRI=65.5, T F)IIFRE=29.3, FiE)IIFE=13.2,
REMEESEE | 2o =173 I F=108. %I Fiisi=16.4
#K L rT -
BEMIEKRFR |_
IZkBEHE
S T RE 12m/s
S i ER 12m/s EBFHS
AE BEEDRS 1285 EIEE DFES15cm
KR GEY
ok B
AR £ EEFICKYBENTEINSEE
ME
- i [100m
BrI% B/INEE40% TERTE60%
BEEDFEIMN0cmU EHYRDOLT b
—_— 1 BEDFEE200miLE
- 2 mEsiEM2°CLlE
3 HEYDER
35 BIESE-4CUT*?
b BaFEHl mIESUIR3CUT
&K
EE 24F5 I E MRS :20cm il Lk
= KB -2°c~2°C
IR P R AT TR 5 BRI E T120mm

NEREREEY KRS OHEASHhEICLSREEERLTIET.
¥ SEREA AR RE DIE,



